Steps for Computing Income Tax Withholding Using the Percentage Method
1. Find the Gross Pay

2. Use the One Allowance Withholding Table and find the number that corresponds to the employee’s pay period.

3. Multiply the amount you found in the One Allowance Withholding Table by the number of allowances declared.

4. Subtract what you got in Step 3 from the employee’s gross pay.

5. Using Table 1 above, find the Over--    But Not Over--  line that corresponds to the number you got in Step 4.

6. Subtract the In Excess of… found in Step 5 from what you got in Step 4.

7. Multiply the number you got in Step 6 by the Percentage found in Step 5.

8. Add the Flat Rate number to what you got in Step 7.

9. This number is your taxes withheld.

Example using these 9 Steps:

1. Find the Gross Pay
The employee earned $610.00 paid weekly. He is single and has claimed 3 allowances.


2. Use the One Allowance Withholding Table and find the number that corresponds to the employee’s pay period.
Weekly
57.69
3. Multiply the amount you found in the One Allowance Withholding Table by the number of allowances declared.
57.69 * 3 allowances = 173.07

4. Subtract what you got in Step 3 from the employee’s gross pay.
610.00 – 173.07 = 436.93

5. Using Table 1 above, find the Over--    But Not Over--  line that corresponds to the number you got in Step 4.


	Over--
	But not over--
	Flat rate & percentage
	Of excess over--

	$164
	$570
	$11.30 + 15%
	$164


6. Subtract the In Excess of… found in Step 5 from what you got in Step 4.
436.93 – 164 = 272.93


7. Multiply the number you got in Step 6 by the Percentage found in Step 5.
272.93 * .15 = 40.94


8. Add the Flat Rate number to what you got in Step 7.
40.94+11.30 = $52.24
9. This number is your taxes withheld.
$52.24
Formula for What the Employer Sends to the IRS
Employer’s Federal Income Tax + (2 * (Employee’s Social Security + Employee’s Medicare))
